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Paper - 11
Child Development and Pedagogy (Q. Nos. 1-30)
gssfeaH vz it Az (Yes & 1-30)

1. Which of the following theories, identifies four stages of child’s intellectual development i.e.
sensory-motor, pre-operational, concrete operational and formal operational ?
(a) Erickson's theory of Psycho-social Development
(b). Freud theory of Psycho-sexual Development
(c) Jean Piaget's theory of Cognitive Development
(d) Kohlberg’s theory of Moral Development

J6" f&fanrt feg fouz fauis g9 ¢ dfua feam @it 99 nierg=t 7 fa Feea-nea,
yg=-fafonr yret, EHWWW»BBHHTWTLW#WWH

(a) EHdEAE B HE-ANfra fearm e fRge

(b) fe€s T Ha-fart feam = fruis

(c) & fimie v Sfts feam & fiois

(d) Josggar ¥ &3 fean o fRus

2/ You have a mixed class of boys and girls. Which method you adopt to improve cooperation
between them ? :
(a) Asking parents to discuss equality
(b) Making boys and girls share a bench
(c) Setting tasks which have to be done together
(d) Talking about equality in lessons
395 IS I w3 s Ot B e Tl a®H T aﬂ?@wfeawaﬁr&rm%gm
35 Hel fgast fedt nuagar|
(@) W3 fusT § massT oy fewrg- -TCIEdT FIS BT Addl
(b) Hsnﬁaa?wafsawwmﬁ?@a :
(c) T S faGd frad Rctfontt &3 712 T
(d) s €8 AHE3T 89 3% F9dT ; Lo

3. Which makes an adolescent revolt against authority ?
(a) He thinks that he is mature enough
(b) His want for recognition and independence of thoughts and action
(¢) He thinks he is intelligent enough
" (d) He believes that he does not need any advice
36 feu’ foauzT f8x fane & wiftardt T fedu fewdo so@er 39
(a) €7 Ao T fx 89 et farer 3 : e
|(b) Bu fegmst w2 Wt FF WaTT wmiT wiFel gger 3 '
(¢c) 8T A9w T fa g arst §dtis T
(d) 8g muse T fx 8RS fai Fg & Age3 &4t T

4. “Education doesn't bring about social change, rather the social change results into an educational
change™ whose view was.his ?
(a) Auguste Comte (b) Emile Durkheim (c¢) Herbert Spencer (d) Karl Marx
WWW&TWWWW?WMW?&
feawer 97 feg famer fegrg
(a) YigHS e (b) Ehedt ssfud  (¢) IIE9C RUGHY (d) 9% HIAH
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10.

Observational léarning consists of :

I Attention and retention It Attention and reinforcement

It Production processes and motivation IV Reinforcement and motivation

(a) Iland IV only (b) Iand Il only (¢) llandIVonly (d) [andllonly

I feaaes w3 oe Aast I feaaes w3 g5 fedt

[l 83uws yadt ni3 Jdar IV =8 fedt w3 ygsr ;

(a) THIGR I3 IV (b) fAsg ImB 1l (¢) fHae WS IV (d) fAge 1m3 1l

Suppose you get a Punjabi medium student who has learnt Hindi. He is given five sentences to be
translated from Punjabi to Hindi. As an evaluator, which aspect would you try to evaluate in him ?
(a) Application (b) Knowledge (c) Synthesis (d) Understanding

Urret 3° f3ET nisere a9s ®Et 2 aF 951 9 wetee g937 @ 39 3 I B8R Y faod uy
T HSIE I95 € B35 94|

(a) T3 (b) famrs (c) AASHE (d) AHS

The slogan of *Learning Without Burden * was given by

(a) Adielshiah Committee (b) Ishwer Bhai Patel Committee

(¢) Mathur Committee (d) Yashpal Committee

83 fg&t niftris™ & amar a3 famrr #t

(a) MEIBRTT THST Tnfrar (b) EIHST IET UTH TSt TTTT

(c) HET IHST Tnfrar (d) THUS JHST enar

In Summative Evaluation, which of the following mode is used ?

(a) Assignment : (b) Group work

(¢) Classroom discussion {(d) Annual Examination

AHfez weias fe Jot fefanit feg' fxas wdhar yaar stz mier

(a) FAfimrm fenr I (b) FHT IIH

(c) TH3 @9 fegrg eeiegr (d) A& fEHfzas

Which of the following is the most appropriate form of assessing the *Affective Domain’ of the students ?
(a) Interview (b) Observation {c) Questionnaire (d) Written Test

J&" fefamit fed' foraa fefenradins & ygremddt 439’ o yefes aes & 73 3 30 g9t gu I
(a) fEzafel (b) fodhuz (c) YyAE=H (d) fouz Yiftmr

Pranav seems to be overloaded with energy. He bounces. on his seat and frequently interrupts
others. It is difficult for him to focus and listen to his teachers. He is more likely to belong to
which of the following categories ?

(a) An emotionally disturbed child

(b) Attention Deficit Hyperactivity Disorder (ADHD)

(¢) Attention Spectrum Disorder (ASD)

(d) Dyspraxia :

YTT B9 &% Ge9ss YISz duT J1 80 i@ Hie Bus Semw T w3 B9 d95T ¥ S
few fews uer I, Bm &2t @Fe miftmua 3 firns XeT S9aT w3 Haa™ B I 8rae It
(a) FEEIHA 39 I FUs fEx AT

(b) icHE 3EHfHe TSt fsArgsd (ADHD)

(¢) MEHS AUEIH fSmasd (ASD)

(d) Ay
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11.

12.

13.

14.

16,

ZPD stands for

(a) Zone for Proximal Development (b) Zone of Proximal Development

(c) Zone with Proximal Development (d) Zone for Proximate Development

ZPDIF TR J .

(a) 75 ST YIHHS fs2wuire (b) H& »g YaHHS fsemuire

(¢) ¥ few yarmvs fsemuire (d) 78 T9 yaHhe f3esunz

The thinking process involved in producing an idea or concept that is new, original and useful, is termed as
(a) Creativity (b) Innovation (¢) Intelligence (d) Synectics

fez fegg 7 ugs 7 &t ﬂ%an@m@aa%@am%anﬁmﬁausﬁ?;mw%
(a) FTEBHAZT (b)) TE (c) ¥dt (d) Ataafesn

According to NCF 2005, the role of teacher has been that of a

(a) Authority (b) Dictatorial (c) Permissive (d) Facilitator

NCF 2005 wgR™3, niftrmug & gfiar I -

(a) iftadt & (b) IHHT & (¢) Beg et (d) Wewarg &

“Having a diverse classroom with varied social, children from economic and cultural background
enriches the learning experiences of all students™ this statement is

(a) Incorrect, because it can confuse the children and they may feel lost.

(b) Correct, because children learn many skills from their peers.

(€) Correct, because it makes the classroom more hierarchical.

(d) Incorrect, because it leads to unnecessary competition. :

(a) 383 7, fa@fx fea sfoni & € AET I w3 8T amrfanr Higer a9 Fere o

(b) AIT T, fa@fa ¥9 »me FEht &8 593 Adnrt fsdasret iy A 9%

(¢) At 9, f3@fx feg M3 § 99 wowdy que

(d) T3 I, fa@fa feo fx 983 waes o a5 o= mge I

Arrange the following components of teaching process in order :

I Selection of the subject matter I Evaluation Il Feedback
IV Formulating Obiectives V  Teaching

(a) 1 11 Il IV V (b) I 1 1V Il V

(© IV 1V II 1 () IV IV 1 1

| fer ems et g9 I HBaE 1 dtsea
v 8eHi & fagns V  nfftmimus

(@) I 1I HI IV V : () I T IV I V

(© IV 1V I 1 : @ IV IV I I

Which of the following statement is correct about Jean Piaget’s theory of cognitive development ?
(a) The sequence of the stages can vary according to the cultural context of children. :
(b) Piaget argues that instead of progressing through stages, cognitive development is continuous.
(c) Piaget has proposed five distinct stages of cognitive development.

(d) The stages are invariant which means no stage can be skipped. 3

wites funm © Sfua feam € fisats a9 3o fiofanrt fog* fxaar 385 At 3

(a) dfonit ¥ ARfg3E Hees nighs uzwt & 3t 2 J 7t

(b) fimr 38 Juer J fg gt odt feqrm & v 3 S feary fsdse I

(c) fimmi 3 dfter fearm € Un fefime uzet &t fireram 9t 3

(d) U3 & ¥ESE W T, frrer a7 g & &t & g 2fenr 5t 7 R
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17.

18.

19.

According to Lev Vygotsky

(a) Children learn language through a language acquisition drive

(b) Interaction with adults and peers does not influence language development
(¢) Language development changes the nature of human thought

{(d) Culture plays a very small role in language development

e SdeHet v

(a) 89 37 fEx g Yyt grete ot fifue 0w

(b) B W3 AET 5% TIIEY I fear § ygtes &dt q9wr 9

(c) 3" fearm Hse Fg & yfgSt § semer T

(d) AAfEST 3 fearm <9 993 &3t sfiar fag@et T

According to Right to Education Act. 2009, children with special needs should study

(a) in vocational training centers which would prepare them for life skills

(b) at home with their parents and caregivers providing necessary support

(¢) inspecial schools created exclusively for them

(d) in inclusive education set up with provisions to cater their individual needs

fitfemr & mifgarg wiee 2009 niEFTe, feim Agest @S dfonr 3 ugs wdter §

(a) 3m5s et Fog fe firgd Buat § Hes fadsaret et o a9aa

(b) we &g Agdt Fofes fée OF W3 s wis fiwrs Jue =fen

(c) feRm3s 3 wifd sfowt =3 w® o Reim A 9

(d) BIa" Tt feniarStars 7dst 4 uor a9s € yEu &% ¥ Aflfss fifims yaddt ot

An effective teacher in classroom, where students come from diverse background would:

(a) create groups of students with those from the same econpmic‘background put together

(b) push students from deprived backgrounds to work hard so that they can match up with their peers

(c) focus on their cultural knowledge to address individual differences among the group

(d) ignore cultural knowledge and treat all his students in a uniform manner

(a) AH'S nirdfae fugers =& fefentadint & fedsr a9 AHT g=rgar

(b) 2fg3 fugas 3 fefonradhr § Hoa3 o9s Tt 79 SIrear 3¢ 7 8T wiuE FEy 3%
IS &9 AaE : |

() AHT F9 fondtas szt s a3 J= =&t Qust © Anfasa famrs 3 a'wg &gar

(d) ARfEE fomis S naefin g3ar »iE A9 fefonrgdnt & fegrmg fesarg agar
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20.  According to Piaget’s cognitive development theory, *A Cohesive, repeatable action sequence
possessing component actions that are tightly interconnected and governed by a core meaning’ is
referred as which of the following ?

(a) “Schema (b) Operation (c) Stage (d) Egocentrism

fiprry © Sfte fearm iz wiseg “SUse fafanret ot fa g niegst mieg wnrar
HFEB"YWHBFMTHB%HE{%BUE %Hﬁmm@mﬁwma”ﬁaﬁw
e fom € 39 '3 w3 7t )

(a) HaT (b) argerEt (c) U9 (d) Pﬂwf%ﬂw
21.  “Conventional Morality’ is a stage, which comes in which of the following theory ?

(a) Cognitive Development Theory (b) Moral Development Theory

(¢) Theory of Instruction (d) Trial and error Theory

(a) Bt feam ¢ iz f&g (b)y 3f3x feam & faus &g

(¢c) Tsgen v fAuiz f&g (d) fEs »iz nigg oz &g

22.  Which theory is based on the principle that learner construct new ideas or concepts based upon
existing knowledge ?

(a) Social Constructivism (b) ; Cognitive Constructivism

(¢) Radical Constructivism (d) Spiral Constructivism
fﬁwm%ﬂﬁvﬁuama%{ﬁmﬂmﬁwmﬁmgwﬁwm
ga&=et WIer J|

(a) AHHS IS ZIHIT (b) HUx FeEIHFZT

CRINEEERECLEY . (d) TaIET JISIHAZT

23, Which of the following is the characteristics of *Self-Awareness’ in the model of Emotional
Intelligence ?

(a) know how to control impulses
(b) know your own emotional strategies and weaknesses
(c) able to set small steps to achieve large goals

(d) able to get along with others

ITESHA g4t 3 HE® fF9 Iat fefant o5 faast wisH- Wﬁﬁmm

(a) feg Ass 3 Ha=ar § fae' fouisfas s9ar &

(b) MUET FEFIHT THa 3 IHAG & FrEsT y
(c) <3 TR & YU3 95 BET ¢ deH 82 T TES 95

(d) JI&" 3% IH II5 ¥ IS T

24.  Who gave the concept of Extroversion and Introversion of trait theory of Personality ?
(a) Carl Jung . (b) B.F. Skinner (c) Albert Bandura (d) Crow and Crow
(a) IIS Har (b) . Afass () W@Ede gggr (d) I B Q
(Paper-II) 6 : . B



26.

27,

28.

30.

Which of the following refers to gender division ?

(a) The hierarchical uncqual roles assigned to boy and girl by society
(b) Biological differences between boy and girl

(¢) The ratio of male child and female child

(d) The division between male students and female students

It fefanit feg fags g 33 <5 Aoz a9 d:

(a) wwmmmﬁmﬂwaﬁmn{mﬂﬁaﬁw
(b)mwmﬁe‘eﬁmﬁfﬁm

(c) B9 59 M3 HET 59 T mEUS

(d) &9 fefonradr niZ W fefonrad! fegaa €3

Recall type test and recognition type test are the types of

{a) Essay type test (b) Short answer type test

(¢} Objective type test (d) Very short answer type test

TY J96 forH Uifimim w2 paus ader fary utfim, fardt os:

(a) &y fame Yifepr (b) &< 839 T fam utfipu

(¢) feamudt it (d) =3 8¢ B33 =t famy & it

What is the ftull form of *ICIDH" ? :

(a) Indian Classification of Impairment, Disabilities and Handicaps

(b) Indian Classification for Impairment, Disabilities and Handicaps |

(c) International Classification for Impairment, Disabilities and Handicaps

(d) International Classification of Impairment, Disabilities and Handicaps
‘ICIDH® & U3& gu &t J1

(a) Bz TwHifeaHs nits fEimmne, fomifadid w3 Ttenm
(b) FE5nis awHifeans e Finane, fermifadtda wis T8teuT
(c) FEeaaras ammHifeans a9 fEimighe, fErmfastda »is I3teuT
(d) F¥zIoren aumifeans e fBimane, fEmifastdta iz Iteum

The concept ‘Identity versus Role Confusion® happens in

(a) Early childhood stage (b) Adolescent stage

(¢) Childhood (d) Middle childhood

(a) WMIBA §% niery g (b) faAT nierg &9

(c) 8 nerE S (d) Hu ¥ verg &g

The right sequence of major stages of cognitive growth as proposed by Jerome Bruner are
(a) Symbolic, Iconic, Enactive (b) Iconic, Symbolice, Enactive

(¢) Enactive, Iconic, Symbolic (d) Symbolic, Enactive, Iconic

HI9H "g&9 ©TaT FIEMT IEh Wy St fedrm €t wierEret € At &3t 97
(a) FEH, HISH, Fea - (b) HISH, AAS, B

(¢c) &eel, HI3, HASH (d) A3, &Tedl, HISd

Who said that, * if a child will not learn before he is capable to learn, then why bother: and if a
child will learn automatically after he has the capability to learn, then why bother™ ?

(a) Jerome Bruner (b) Howard Gardner (c) Lev Vygotsky ~ (d) Jean Piaget
3 Had g9 fiuE & GasT 3 gme vy 3t fdar, 3 feg 98 feg a9at”
(a) ¥IdH ¥959  (b) TSIB AEBEI () ®i At (d) s e

7 ' (Paper-II)
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33

34,

35.

AT STHT (YHES &1 31-60)
ot iz 19 & s &8 U i3 o3 I Yy @ €33 6 :- s &: 31338

mwmww&ﬂlmmémémwﬁﬂmﬁawmé%mw
mamw@wééﬁma@nam@mwmwﬂméwﬁ
IH-FAS fegge fou #8e I, Ug UeH oo fig 315 5 Ft iy e A1 fierss ©
TSt 3 filgt feg wifao forR 58 &t I, f8 @, voms T8 o 83 = &di Jedt 7
ifiz W €3 R e F96 "3 Y- s feg I8 AH & fagr@el fder & 3 & fledt @
@a@aﬁﬂnﬁséﬁééﬂaﬁaéémaéwﬁﬁéﬂﬁmm?u@wﬁﬁw
ma%éawéwmmlmmﬁ%eﬁwémﬁa@am@ﬁzﬁ
& 31 foa 3 AL Gor foon TR 9 iy . faBfa I3 § 231 odl Aci gA, Wiz W °
wHES © G WIHa woE s’ & &t I, 7 7S I W3 & I @R AN § o AuE o
fimrs F96 B Tg3 frst I Agt I A Ba G52 St &, AT @ I Ufer F9 A o
wITF 2 famd & use 89, FRd A9 Holgd aAd3 996 &9 »3 §J Ft gIr U6 3
ufgst 3t @5 f &It o) 72 ac-a Afgg feu : i3 W ¥t €3 3 T HIaE, vt
2 s T v, e feo @8 @ gFEE HeTen € T BEEl 9 w3 HH M-S g
3. g 8es A8 Hfgd feg #aA dgn?@&@ﬂ?ﬂ%ﬁﬁf&améwgﬁfﬂﬁ
YU =93 gat det 31 uB uR fem IS U wd Hes B U J fagfa @i, S e
mm%?yﬂ@ﬁmﬁ@aamﬁéaﬁlwgﬂé@@ﬁm@@
53-8 299 5 1 e € 5Y 3 3 w3 w9 TIen o f2as feu & argd @ wed Be
I U fog 3a U 98 3 HEE 08 ASS3T IAS J96 © fRHEH IHE TS| -

dus v i3 2w fagz 37

@) fos T ufgs ufgg (b) HoH 935 3 5

(c) o= &t (d) ¥ A 791 de IS
BTs © 8d faA g9a 7ed €3¢ I5?

(a) I T &H 3= BH (b) N TIS BTH

(¢) YT II& Bt (d) GudFs fed 38 &t
g < friestt © feam s fagz 37 :

(a) T&ET faorar 99 © &H AU (b) IHET, ¥HIT 3 Q="
() FFH-foewr & 37 (d) Afewrgg & It II&
Beo €9 Ao 936 3 ¥mE 38 A 59 fagr v Sfder 92

(a) T'9-82d I&T J e I (b) maﬁwﬂaﬂmﬁ@é
(¢) METE © AS 2 A I8 (d) Ao Hfgg Se I Ae d
ug &9 vy dE He a me I67

(a) Tgaar fonast (b fea-foaHz

(c) & (d) Bes 2 aud

(Paper-11) 3 B



36.

37,

38.
39.

40.

41.

42,

43,
44.

45.

46.

47.

By ot dfge” gge 97

(a) M3 <8 5= B (b) M & Ur HHEE SE

(¢c) I3 6 29 &' Hz B (d) Ve feu g8 ogE 5@

(a) THo®3 (b) FENIYIES (¢) A-femem (d) IAB

BEs © 84 Aes3' ITHS 935 B4 fo9H feg fere™ gue 9&7?

(a) ST I YA (b) &3 3 HIS (c) I3 I usfiE(d) Quda3 feg It ot
o @ fean 3 fogHzs T an T |

(a) ATBHIS T (b) ATBH T ) FBAGT (4 ufgea 3 witmn= 25 T

e 956 S8 Al J-

(a) BT fEfena vz () BFE A
(¢c) HSfefams & Aeardt d) uIa3 73
firfemr T Wy 2w J fefenradd &7

(a) "EHHS feg Sfge fimrEE (b) fe=a firge
(c) wrfamr usE 35 fager (d) FIT9 fAaEe
=9 feg g o feaA

() IFIE I A I T I I | (b) UFHS 3 JE

(o) f7oe fearz Aeed3T aB du Al (d) fouE & Jafen &8 g Ji
73 3 ufgst g9 fare fugs &g e 97

(a) ESC) (b) AHH (c) HIB (d) IFSIST

fmiTs @ 999 GuraE B ot =afawr A J ? |

(a) T (b) ferk (c) WO (d) frat

Hog Htmp 39 der 37 '

(a) feog-ec<a &8 (b) THE OB

(¢) US UFHE &S | (d) Yriee fedt &

st 3 & Bt faadt 97

(a) SLETS! (b) IHS (c) TIH (d) SuIa3 fed adt & &t

st € Qu-SE WSt farg-fo e 9Et Al 37
(a) JIEHYT, Ufenws, Wfi{3Ag (b) Juz, sftmreT, Wil EHI
(¢) grgemyg, WiEHAg, Ud (d) FYTES', H3IAE, Iiraud

9 ; (Paper-1I)



48.

49,

mméuﬁmmmmméﬂ@?ﬁaﬂww@

(a) Tt (b) TJE ey Hd-L. (d) fenrage
(Y, 2. 9 9 A(B) -3, 82, (¢) ‘€. 58 (d) .4, 4,y
T A?

(a) 7= . (b foiTs (c) ™IU-7S (d) FE=IH

wEAA! fagdt fam e ferfia 3 2 .
(@) feT9we” (b) BT (o) FOSTER () Hewed fen

39T AET € ANS'IEE A9 o 97

(a) HH (b) »ifiE T (c) MRI (d) ©F
HII fee 993 eEisa & =93 it o o2

(a) 3H" (b) H (c) Hg (d) HT

J&' fauini afe 739 § famirs s ug 3 83 a1 yrie' © €39 6 qua?s 543 60
89 ygs wey 3 fggn &9l

G iz S Uigit W afet o

gaFdmi ? ', e 2 ares fa3,

€9 mdls €t oy T g At g oy,

89 ¥3g' 3 AT, IITSMI 3 FIIS, I 2 I,

89 3 3 Higew, €9 Fut it Fow, HoeT, G fEe

fir U3 s § N ufeor,

89 A wisuF T ugT, I8k, wEee g I 5 0

193 f9 2 fimrg 98?7 89 73 1 Sse ovs famr 58 2

Te8 3 fifss 587 fiss 87 69 919 © e, 79 Arav?

HA' 2 89 Miead =adl fog f48?

&9t Ot 2 @3 fega < Agw=,

H=EM T ygrst NI Tgatt vy 5
A-fenrd e €9 wreg, 7, fifarg 3 deg faa?
TZ 3 HIT? - . ,
7 199 g1 3 ggard, §9 Wide T dar maar =,
89 I'g va 41, §9 f38eg g,
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English Language (Q. Nos. 61-90)
Read the passage carefully and Answer the questions (Q. Nos. 61-68)

The first and decisive step in the expansion of Europe overseas was the conquest of the
Atlantic Ocean,, That the nation to achieve this should be Portugal was the logical outcome of her
geographical position and her history. Placed on the extreme margin of the. old, classical
Mediterranéan world and facing the untraversed ocean. Portugal could adapt and develop the
knowledge and experience of the past to meet the challenge of the unknown. Some centuries of
navigating the coastal waters of Western Europe and Northern Africa had prepared Portuguese
seamen to appreciate the problems which the Ocean presented and to apply and develop the
methods necessary to overcome them. From the seamen of the Mediterranean, particularly those of
Genoa and Venice, they had leared the organization and conduct of a mercantile marine and from

- Jewish astronomers and Catalan mapmakers the rudiments of navigation. Largely excluded from a

share in Mediterranean commerce at a time when her increasing and vigorous population was
making heavy demands on her resources, Portugal turned southwards and westwards for
opportunities of trade and commerce. At this moment of national destiny it was fortunate for her
that in men of the calibre of Prince Henry, known as the tNavigator and King John I she found
resolute and dedicated leaders. p

The problems to be faced were new and complex. The conditions for navigation and commerce
in the Mediterranean were relatively simple, compared with those in the western seas. The
landlocked Mediterranean, tideless and with a climatic regime of regular and well-defined seasons,
presented few obstacles to sailors who were the heirs of a great body of sea lore garnered from the
experiences of many centuries. What hazards there were, in the form of sudden storms or
dangerous coasts, were knowh' and could be usually anticipated. Similarly the Mediterranean
coasts, though they might be for long periods in the hands of dangerous rivals, werg described in
sailing directions or laid down on the portolan charfs drawn by Venetian, Genoesé and Catalan
cartographers. Problems of determining positions at sea, which confrdnted the Portuguese, did not
arise. Though the Mediterranean seamen by no means restricted themselves to coastal sailing, the
latitudinal extent of the Mediterranean was not greal, and voyages could be'conducted from point
to point on compass bearings; the ships were never so far from land as to make it necessary to fix
their positions in latitude by astronomical observations. Having made a landfall on a bearing, they
could determine their precise position forim prominent landmarks, soundings or the nature of the
sea bed. after reference to the sailing directions or charts. ,

By contrast, the pioneers of ocean navigation ficed much greater difficulties. The Western
ocean which extended. according to the speculation of the cosmographers, through many degrees
of latitude and longitude, was an unkown quantity, but certainly subjected to wide variations of
weather and without known bounds. Those who first ventured out over its waters did so without
benefit of sailing directions or traditional lore. As the Protuguese sailed southwards. they left
behind them the familiar constellations in the heavens by which they could determine direction and
the hours of the night, and particularly the pole-star from which by a simple operation they could
determine their latitude. Along the unknown coasts they were threatened by shallows, hidden
banks, rocks and contrary winds and currents, with no knowledge of convenient shelter of ride out
storms or of very necessary watering places. It is little wonder that these pioneers dreaded the
thought of being forced on to a lee shore or of having to choose between these inshore dangers and
the-unrecorded perils of the open sea,

Before the expansion of Europe overseas could take place
(a) Wast sum of money has o be raised (b) An army had to be recruited
(¢) The Atlantic ocean had to be conquered (d) Ships had to be built

One of the Portugal's leaders, known as navigator, was in reality

(a) Christopher CoTimbus (b) King John 11

(¢)_ A Venetian (d)' Prince Henry

Portugal was adept at exploring unknown waters because she possessed all of the following except
(@) "Arnavy : (b) Past experience

(¢) Experienced Navigators (d) Extensive trade Routes
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In addition to possessing the necessary resources for exploration. Portugal was the logical country
for their task because of her _

(a) Wealth (b) Navigational Experience

(¢). Geographical position (d) Prominence

The Portuguese learned navigational methods and procedures from all of the following except
(a) Jews (b) Catalans (c). Genoese (d) Aegrans

Mediferranean secamen generally kept close to shore because
(a) They were afraid of pirates

(b) They feared being forced to a lee shore

(¢) They lacked navigational ability

(d) The latitudinal extents of the Mediterranean was not great

Hazards such as sudden storms & dangerous coast were
(a) Predictable risks (b) Unknown risks
(¢) Unknown to the area (d) A Major threat to exploration

Sailing close to the coast enabled seamen to
(a) Reach their destination faster

(b) Navigate without sailing directions

(¢) Determine their position form landmark
(d) l)etcrmine their longitude and latitude

The Broca’s area and Wernicke's area in the left hemisphere of the human brain are responsible tor
speeeti production and speech comprehension respectively. The above state is

(a) True i (b) False

(c) True onlyin case of Broca's area (d) True only in case of Wernicke's area
Which of the tollowum falls in the category of non-creative literature ?

(a) Picture unmpmitmn (b) Essays

(c) Poems : (d) Newspaper

The assessment of the child should aim at

(a) Rank and place of the child in the hierarchy of ach;evement
(b) Awarding marks to children

(c) Finding gaps'in children and planning future strategies

(d) Planning or failing children

Which of the following is the formal activity of conducting oral Test ?

(a) Question Answer (b) Story Telling

(¢) Reading aloud (d) All the above

Which of the following are the reinforcement language skills ?

(a) Listening and Speaking (b) Reading and Writing
(¢) Listening and Reading (d) Speaking and Writing

All normal living human being are endowed with some innate Internal Capacity for language
acquisition that other animal do not have’ was the assumption of
(a) B.F.Skinner (b) Noam Chomsky (c) James Macawley (d) Weinrich

Conjunctions are

(a) Distributive Words (b) Substitute Words

(¢) Function Words (d) Content Words

Which type of grammar believes in change along with the change in the language ?
(a) Formal grammar (b) Functional grammar

(¢) Both (a) and (b) (d) None of the above
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Which method of teaching grammar does not realise the necessity of associating thought with
expression ?

(a} Deductive Method (b) Inductive Method

(¢) Correlational Method (d) Incidental Method

Which of the following statement is not correct in case of a diagnostic test ?

(a) Diagnostic test helps us to know the particular strength and weakness of a student

(b) It provides the teacher a single score :

(c) It locates the degree of deficiency

(d) The test items are analysed on the basis of wrong responses of the students on an item

‘Which of the following step is essential for undertaking remedial teaching ?

(a) Planning. Organisation and Evaluating (b) Leading
(c) Both (a) and (b) (d) None of the above

Introduction of which type of composition at the earl y stage may develop habit of copying from
cheap books ?

(a) Controlled composition (b) Guided composition

(¢} Free composition ~ (d) Creative Writing

Which of the following is the sub skill involved in listening ?
(a) Identification or Decoding sounds

(b) Understanding Syntactic patterns or structures

(¢) Identifying information, Emotional and Attitudinal tone
(d) All of the above

Which of the following is not a movable organ of speech ?

(a) Lip (b) Soft Palate (c) Vocal Cords (d) Alveolar Ridge
Which of the following statement is false ? '
(a) Language is not just pairing of grammar and dictionary

(b) Language is constantly changing

(c) All languages have vowels and consonant

(d) ‘We should teach the students about the language

Which of the following statement is incorrect ?

(a) Mother tongue can be used as a medium to teach English Language

(b) Assessment of Language proficiency should be holistic

(¢) Focused listening is also called intense listening

(d) English does not have a rigid system of stress patterning as some languages have

Read the passage carefully and Answer the questions (Q.Nos. 85-90)

It is easy to accept Freud as an applied scientist, and, indeed he is widely regarded as the
twentieth century’s master clinician. However, in viewing Marx as an applied social scientist the
stance needed is that of a Machiavellian operationalism. The objective is neither to bury nor to
praise him. The assumption is simply that he is better understood for being understood as an
applied sociologist. This is in part the clear implication of Marx's Theses on Feurbach, which
culminate in the resounding 11" thesis: “The philosophers have only interpreted the world in
different ways; the point, however, is to change it.” This would seem to be the tacit creed of
applied scientists everywhere. _

Marx was no Faustian, concerned solely with understanding society. but a promethean who
sought to understand it well enough to influence and to change it. He was centrally concerned with
the social problems of a lay group, the proletariat, and there can be little doubt that this work is
motivated by an effort to reduce their suffering, as he saw it. His diagnosis was that their increasing
misery and alienation engendered endemic class struggle; his prognosis claimed that this would
culminate in revolution; his therapeutic prescription was class consciousness and active stru ggle.
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Here, as in assessing Durkheim or Freud, the issue is not whether this analysis is empirically
correct or scientifically adequate. Furthermore, whether or not this formulation seems to eviscerate
Marx’s revolutionary core, as critics on the left may charge, or whether the formulation provides
Marx with a new veneer of academic respectability, as critics on the right may allege, is entirely
irrelevant from the present standpoint. Insofar as Marx’s or any other social scientist’'s work
conforms to a generalized model of applied social science. insofar as it is professionally oriented to
the values and social problems of laymen in his society, he may be treated as an applied social
scientist.

Despite Durkheim’s intellectualistic proclivities and rationalistic pathos, he was too much the
product of European turbulence to turn his back on the travail of his culture. “Why strive for
knowledge of reality. if this knowledge cannot aid us in life,” he asked. “Social science.” he,said,
“can provide us with rules of action for the future.”Durkheim, like Marx, conceived of science as
an agency of social action. and like him was professionally oriented to the values and problems of
laymen in his society. Unless one sees that Durkheim was in some part an applied social scientist, it
is impossible to understand why he concludes his monumental study of Suicide with a chapter on
“Practical Consequences,” and why, in the Division of Lahour, he proposes a specific remedy for
anomie.

Durkheim is today widely regarded as a model of theoretic and methodologic sophistication,
and is thus usually seen only in his capacity as a pure social scientist. Surely this is an incomplete
view of the man who regarded the practical effectiveness of a science as its principal justification.
To be more fully understood, Durkheim also needs to be seen as an applied sociologist. His interest
in religious beliefs and organization, in crime and penology, in educational methods and
organization, in suicide and anomie, are not casually chosen problem areas. Nor did he select them
only because they provided occasions for the development of his theoretical orientation. These
areas were in his time, as they are today, problems of indigenous interest to applied sociologists in
Western society, precisely because of their practical significance.

Which of the following best describes the author's conception of an applied social scientist ?
(a) A professional who listens to people’s problems . :

(b) A professional who seeks social action & change

(¢} A student of society

(d) A proponent of class struggle

According to the author, which of the following did Marx and Durkheim have in common ?
(2) A belief in the importance of class struggle

(b) A desire to create a system of social organisation

(¢) An interest in penology

(d) Regard for the practical application of Science

It may be inferred from the passage that the applied social scientist might be interested in all of the
following subject except

(a) The theory of mechanics (b) How to make workers more efficient

(c) Rehabilitation of juvenile delinquents  (d) Reduction of social tensions

Accopeing to the passage, applied social science can be distinguished from pure social science by its

(a) practical significance (b) universal application
(¢) cultural pluralism (d) objectivity

Which of the following best summarises the author’s main point ?

{a) Marx and Durkheim were similar in their ideas

(b) Freud, Marx and Durkheim were all social scientists

(c) Philosophers among other, who are regarded as the theoreticians can also be regarded as empiricists

(d). Marxtand Durkheim were applied social scientists because they are concerned with the
solution of the social problems '

‘All of the following are mentioned as topics of interest to Durkheim except

(a) Suicide (b) Psychiatry (c) Crime (d) Education
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Social Science/Social Studies (Q. Nos. 91-150)

A fefamra/mitaa mifis (e & 91-150)
When was the Permanent Settlement introduced in India? 5
(@) AD 1757 (b) AD 1764 (c) AD 1773 (d) AD 1793
gra3 & AEEt FEUs I 7Y o137 fod™ |
@ AD1757 788 (b) AD1764f88  (¢) AD17731<8  (d) AD1793 f&g
Charles Wood's Dispatch is associated with:
(a) Missionary Work (b) Education (¢) Military System  (d) Princely India
(a) fHHadr 3 &% (b) fHlMT 5% (c) fHzedt y=&it &% (d)IEHS 393 578
When was the State of Awadh annexed?
(a) AD 1843 (b) AD 1849 (c) AD 1853 (d) AD 1856
WU T IH 3 a2 nffaarg i3 faprr A :
(a) AD 184388 (b) AD 1849 9 (c) AD1853f&g . (d) AD 1856 feq
Where was the first session of the Indian National Congress held? :
(a) Calcutta (b) Bombay (c) Delhi (d) Madras
g3t IS 99N € ufawr AR fog Ifenr At
(a) a3 feyr  (b) B few (c) f&&t feu (d) HegH feu
Who presided over the ficst session of the Indian National Congress?
(a) R.C. Dutt (b) Dadabhai Naoroji (¢) Ananda Charlu (d) W.C. Bannerjee
It IS s = ufad FEs & yusdt fars oSt HY -
(a) Wra. A, €3 (b) TEFE FOAT  (c) MiBET T9Y (d) FEHG. H. FaTH

'~ When was the Bengal Ppovince partitioned?

(a) AD 1901 (b) AD 1905 (c) AD 1909 (d) AD 1012

s B 9 €5 9 TE A

(@) AD 190178 (b) AD1905f%8  (¢) AD 19098 (d) AD1012f%S
Identify the moderate leader in the Indian National Congress:

(a) Dadabhai Naoroji (b) B.G. Tilak (¢) LalaLajpatRai (d) Bipen Chandra Pal
grg3t aRed Jden feg,aaM fmrdher #ise € ufoge a9

(a) TESE A (b) =LA 3EX (c) &F HHUS TE (d) faus Iv3 us
Sir Syad Ahmad Khan belonged to the city of :

(a) Delhi (b) Lucknow (¢) Aligarh (d) Allahabad
HY A nifore us for #fod &% Aaas #: .

(a) fest (b) ®ua8 (c) Sz (d) WETIE
Who was not the part of the Khilafat Committee?

(a) Hasrat Mohani (b) Hakim Ajmal Khan

(¢) Mulana Abul Kalam Azad (d) M.A. Jinnah

az fumrez et © fdmr &d At?

(a) TAG3 HUsT (b) TTIH WATHS 5

(¢) A& WIS a&H MATE (d) »iH. 2. e

Where was Madan Lal Dhingra executed? .

(a) London (b) Lahore (¢) Delhi . (d) Karachi
HeE o wiaer § foag efrt oSt argt At

(a) ¥35 (b) &dd (c) fest (d) FIot

Who was the Lt. Governor of the Punjab in April 1919?

(a) Denzil Ibbetson (b) General Dyer (¢) Michael O’'Dwyer (d) James Wilson
i 1919 9 U T $edtdT I=dad o HiY |

(2) 3afn® feders (b) 769% 3T (¢) HEam § s=feg (d)vve <BAs
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The Jallianwala Bagh is situated in the city of’
(a) Anandpur Sahib(b)- Amritsar (c)
Afeniesr gt for #fog &9 mfas 7

(a) WETUT Ffog (b) wifisAg (c)

Fatehghar Sahib (d) Goindwal Sahib

efzaarg rfog  (d) diffess Aoy

Identify the Upper House in the Indian parliament.

(a) Rajya Sabha  (b) Lok Sabha (c)
AAT ¥ QUIs AEs € UETE o9
(a) 97 HIT (b) & AT (c)

Who is the Chairperson of the Rajya Sabha?
(a) President of India

(c) Vice President of India

IH AT € YU's aE J7

(a) 393 T THIYUIL

(c) 393 T By-grHegu=t

(b)
{d)

(b)
(d)

Gram Sabha (d) Samiti

IH AT (d) Afi=t

Chief Justice of the Supreme Court
Chief Election Commissioner of India

H9e-89 niT®3 v die Anfen
793 T HY 9T IHHET

Where is the seat of the Indian Supreme Court situated?

(a) Kolkatta (b) Delhi (c)
I3t FI=-8% miv®3 o Hie fda Afas 37

(a) TBAIT (b) foat (c)
The Sarkaria Commission is known for:
(a) Centre-State Relations (b)

(c) Education System -
HIGI JHAS  Afenr Jier I
(a) 3('?3-67? Aogt &t

(c) THfm yzrdhnr met ;

Which party system is prevalent in India?

(d)

(b)
(d)

(a) Military System (b)
(¢) Two Party System (d)
3793 &9 faudt uect yawait yees 37

(a) TH&zdt Y=t (b)
(¢c) T-UTget yeEt (d)
The idea of Panchsheel is associated with:

(a) Tibet (b) India (¢)
JoHt® & fegrg AY03 O

(a) 583 &% (b) 3T3 &% (c)

Heet

Mumbai (d) Chennai

(d) T5%t

Water Dispute Resolution
Financial Federalism

S safant @ I met

Single Party System
Multi-Party System

Which country is Nelson Mandela associated with?

(a) South Korea  (b) South Africa
(a) Tuat Jdor - (b) T wiedtar (o)
[dentify the second President of Indian Republic:
(a) S.Radhakrishnan (b) Rajendra Prasad  (c)
931 IE339 T gAY IHEIUST € ugETE 9
(a) WA. ITTIHES (b) THET Yo (c)

(c)

25

feafirdt wradt yeht
qg-UTIET yErs!

England (d) Nepal

féass ms. (d) U8 5

South America (d) Uganda

TUSt mindtar . (d) GarsT

V.V. Giri (d) Dr. Zakir Hussain
A ot (@) 5. e o
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tdentify the first Vice President of India:
(a) Dr. Zakir Hussain {b) V.V.Giri (c) B.D.lJatti
a3 © Ufo® QU THeIust o ugT F9;

(a) 3. 99 gHE (b) . fordt (c) =t 3t A3t
What is the number of seats in the Punjab Legislative Assembly?
(a) 115 (b) 117 (c) 119

Uay feus R &g Aiet & foest faat a7

(a) 115 (b) 117 (c) 119

Who excavated the site of Mohenjodaro in Sind?

(a) R.D. Bannerjee (b) D.R. Sahni

(c) Alexander Cunningham (d) R.S. Bisht
fRu fSg vfdaes © feare & yerst fams &=t 2

(a) ™. ST, g&IAT (b) 1. wrg. gIEt
(¢) MEIFAST IfdaH (d) w9, iR, fars
What does the term asva fuean in the Rigveda?

(a) Bull (b) Cow 2 (c) Horse
fgaree &9 HuT ‘wRT © ot nag J7

(a) ‘3’6‘6 (b) ar (¢c) wzr

What is the astangika-marga?

(a) Seven-fold path (b) Eight-fold path  (¢) Nine-fold path
mAeHaier Hraar &t 97

(a) A3 uadh gAZT (b) WS UsSt SR (¢) & USST IET
Piygdassi, Emperor Asoka’s second name was discovered in:

(a) AD 1715 (b) AD 1815 - (c) AD 1915
FHIE WA € EAJT &TH drarerrt Sfimr famr #t:

(a) AD1715 39 (b) AD 1815w (c) AD1915fE%

Who was Pulekesan I1?

(d) S. Radhakrishnan

(d) A, ITTIHES

(d) 121

(d) 121

(d) Serpent

(d) a1

(d) Ten-fold path
(d) =R UI3T AT
(d) “AD 1955

(d) AD 1955 <8

(d) None of the above

(a) Chalukya King (b) Gupta King (c) Pallava King

UBAHE 11 g Hi? : _

(a) TBfa@T IHT (b)) IV IH (¢) U&= IHr (d) Budaz Iet &t
Who among the following introduced the market regulations?

(a) Qutab-ud-din Aibek (b) Balban

(c) Alau-ud-din Khalji (d) Mohammad bin Tughlaq

g9 faufuzet g It féfanrt fog” famd g a3 AV

(a) I3I-Be-Tla-nwa - (b) TBEE

(¢) MEE-Co-Ein-umt , (d) HoHT-TE&-Za™d

Abul Fazl was in the court of: :

(a) Sikandar Lodhi (b) Sher Shah Suri (c) Babur (d) -Akbar
wes eas feme gw R Aty .

(a) fReET &t (b) F9 FO g (c) g99 (d) wiwgd
The British East India Company established the Dual System in:

(a) The Punjab (b) Bengal (c) Rajasthan (d) Awadh
fafen dtre 3 guat & Sogr ydu rarfuz &z Al

(a) UFTg &9 (b) Hars feo (c) IS &9 (d) »=u g
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El-Nino is:
(a) No Ocean Current :

(¢) Warm Ocean Current

WH-318 T
(@) HITATT 339 &t T
(c) IEGH HIHIT IIIr

(b) High Ocean Current
(d) Cold Ocean Current

(b) 89 HoTHGS 3T
(d) 35t HotHGIT 35T

Which country is called the land of ‘Rising Sun?

(a) North Korea (b) Japan (¢) China (d) Taiwan
faas o7 3% gow’ & uot s I
(a) 83Ft adhor  (b) AU (c) It5 (d) 3I&tes

Whigh area is not linked to the Indian Ocean?
(a) Africa (b) Asia . (c) Arctic (d) Australia
fqoz 433 3931 HoiEwg a1 5t qignm g7

(a) medtar (b) THb (c) »adfex (d) mMHSSMIT

Which soil type is predominant in Punjab?

(a) Arid “(b) Alluvial (c) Black (d) Laterite
U g it <t fxadt fams wir 3
(a) gH9 “(b) 783 (c) TH (d) Fcaste

tdentity the state not having Jhumming type of farming :
(a) Assam (b) Nagaland (¢) Mizoram (d) Haryana
mﬁmmﬁﬂﬁvsﬁmﬁmﬁaﬁaﬁaﬁ*

(a) WHA™H (b) FIHZ (c) HiTgaw (d) Tfonrsr
Which of the following’contributes 63 per cent of India’s petroleum?
(a) Assam (b) Mumbai High (¢) Kerala (d) Gujarat

wﬁﬁw%ﬁmwem@muﬁgmmﬁ?

(a) WATH (b) WgEt grEt (c) SIS (d) IAT3
Identity the non-food crop (s):

(a) Jute (b) Rubber (¢c) Cotton (d) Al of these
I9-4T THS o ygrE a9 '

(a) USHS (b) IYZ (c) Fug (d)y f&g A9
What is the recorded forest area in Punjab?

(a) 6 per cent (b) 11 per cent (d) 15 per cent
uay &g foarag &z ¢

(a) 6 Ytz (b) . quins w 11 ySHEz (d) 15 yIitmz

The ozone layer is located in :

(a) Troposphere® (b) Stratosphere (c) Mesosphere (d) Ionosphere
SEIRICE §7)1- = o EE.

(@) UFenE R (b) meeHan@ 9 (o) HiTHenS Y (d) nifesmane i
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130 Decibel is the standard for measurement of:

(a) Air (b) Noise (c) ' Height (d) Distance
SHES fere Hy & g T :
(a) T (b) 79 (c) Guret (d) et
131. Where was the Kyoto Protocol adopted in 19977
(a) Argentina (b) Brazil (¢) China (d) Japan
1997 138 awe Uears foa nuafenT famr m#
(a) »oFactsT  (b) FHI® (c) &5 (d) 7
132.  [dentify aim (s) of social research:
(a) Understanding functions of society (b) Studying individual behavior and social action
(¢) todevelop theories (d) Allofthe above
RHA U9 © 891 o uge a9
(@) AHH € IHT & s . (b) TovE3ters feso wis mvma a9n © wiftvis
(¢c) frorst v fegm (d) @u—éiaar "3

133. A hypothesis is:
(a) An assumption about relations between variables
(b) A form of question
(c) A theory
(d) Anexample

fFa ufsamus T
(a) TS fevag Aeu w9 f¥q v (b) yHs T fEq gu
(c) f¥x fAU’3 (d) fEx Burggs

134. Whatare the advantages of Sampling technique?
(a) It saves time and money
(b) It saves destruction of units
(¢) Itachieves greater cooperation from respondents
(d) All of the above
Fufar saste € &9 faos aa?
(a) TeT A »i3 UR € 993 aodt O
(b) &g feardmit ¢ fearm & so@dt &
(c) ferd Fifantt 28 <09 Afotr yus Jer

(d) Qudss A
135. Who introduceci the concept of Ideal Type in Sociology?
(a) Karl Marx (b) Max Weber
(c¢) C.EM. Joad (d) Talcott Parsons
RHA ATH3T {39 »regn famy & ugsr v yfsures fams aisr /e
(a) IS HIIH (b) HSH T99
(c) ALt . 73 (d) T&Ie UgAaH
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136. Interyiew is:

137,

140.

141.

1 42‘

(a) A verbal questioning (b) An abstract form
(¢) A theory forming technique (d) None of the above
Y @ & :

(a) & Hfva Fe® 7eg (b) ¥ mnrgu

(c) fAOS & 995 a9t vy 3ty (d) Budaz IFt st

Which of the following is not a part of social science?

(a) Sociology (b) Economics (¢) Mathematics (d) Political Science
J&" fefanrt fed foaar mum fefimms o B st 39

(a) AHH FTH39 (b)) »i9" HA3T (c) dIfs3 (d) IHaEt AT
Identify a sociologist among the following: :

(a) A.K. Sen (b) Max Weber (¢) Amold Toynbee (d) Bertrand Russell
It fefanit feg’ mrarmRsdt & ueE 53

(a) T4, H& (b) HaH g9 (c) MIEHI Susdr (d) F9293 IA%
Who introduced the concept of Sanskritization

(@) M.N. Srinivas  (b) A.R. Desai (¢) AndreBetellie (d) G.S.Gurye
ARfaStags &t s v yfsures fams sigr HH?

(a) M. Wi, s (b) 2. wrg, At (c) W3dt Tt (d) #t. »m. geo

Who is the main author of “Open the Social Sciences™

(a) Dipankar Gupta (b) Satish Sabarwal

(c) Immanuel Wallenstein (d) Andre Gunnar Frank
“Bus fe BR® FEtfRE” T oy duw &= 30

(a) Thuigg grug (b) AR AsTE®

(c) feHzws Twsrets (d) "3T9 IB9 &

The Report of Gulbenkian Commission on Restructuring of the Social Sciences recommended:
(a) Abolition of the post of Professor

(b) Compulsory joint appointment of Professors

(¢) Reducing focus on social sciences

(d) Teaching of science only .
mméwm%mﬁwﬁaﬁaﬁﬁﬁﬁw%ﬁ?@maﬂﬁm;

(a) USRT ® T © wr=i ot (b) YSHT T mwt 7t fopast &t

() AW fefomis '3 Feg wz a95 & (q) free fefamrs & wiftmmus &t

The Article 14 of the Iridian Constitution stands for:

(a) Right to Equality (b) Right to Life

(c) Right to Information (d) Right to Property
F9st Afeus w wigdtas 14 toet s9er 3

(a) AH®3T T niftgrg &t (b) =s T niftarg ot
(c) A=<t ¥ niftag & (d) wfeew ® wiftars
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144.

145.

146.

147,

148.

149.

150.

. The Mandal Commission is associated with the concern of:

(Paper-11) 30

(a) Minorities (b) Foreigners (¢) Tribal (d) Backward Classes
(a) iU At (b) feernrd (c) Tfomment  (d) fugdt AEort
Which state does the DMK Party belong to?

(a) Telangana (b) Tamil Nadu (c) Kerala (d) Odisha -
DMK urget far o &% Aeg Syt 97

(a) 3BTAET (b) 3HS &5 (c) dATH (@) &S
When was Punjab reorganized on the basis of language?

(a) 1947 (b) 1955 (c) 1960 (d) 1966
ST & w3 G % S v et A '

(a) 1947 By 21955 (c) 1960 (d) 1966
The Balwantray G. Mehta Report is associated with:

(a) Panchayat Raj (b) Sarvodaya Work

(¢) Electoral Reforms (d) Goods and Services Tax (GST)
gwesafe . HfgsT fotge Adu= 7

(a) Ug'fE3 91 &% (b) AILfENT AN &S

(c) I€ HUS &5 (d) TAZ »i3 AT &9 (AmAEhH &7
-ldentify the top layer of the Earth:

(a) Core (b) Nife (¢) Crust (d) Mantle
93t € g 3 QuTdt ud3 & ugTE J4:

(a) 9 (b) &Ere (c) Ut (d) He®
Which planet has the smallest year in Earth time?

(a) 'Mercury (b) Pluto (¢) Neptune (d) Earth
it as R fros i 'S eI e AB dor &

(a) gT (b) M (c) ¥ge (d) ugst
Which continent is the smallest on the Earth?

(a) Asia (b) Africa (¢c) Australia (d) Europe
gadt us faos B8 3 g7 HatEY J7

(@ B - (b) wiedE (c) mmAgBMT  (d) g

A lapidmass surrounded by sea on three sides is known as:

(a) Peninsula (b) Archipelago ~ (c) Island (d) Strait
35 urfimrt 3 miee enrar fufomr aadt fmr wfenr wier O

(a) ugfEEiy (b) sTtg (c) TUAHT (d) A%-3HY
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